
 

 

 

 

   

 

Natural Organic Matter: NOM
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2+
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2+

2

2)

(Citrate DFA)

DFB Fe(III)-DFB

10 cm

Fe(III)-DFB (429 

nm)  

NaCl 0.5 M NaHCO3 0.2 mM

(NaCl ) NaCl CaCl2 10 mM

(NaCl/CaCl2 ) 3 Citrate

Fe(III) 1 M DFB 1 M

Citrate 0.5 mM 5 mM DFA

Fe(III) 250 nM DFB 250 nM

DFA 2 mg/L 8 mg/L

DFA 2400 (0.8 

M 3.3 M) 25  
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1. Citrate  

(s
-1

)  (M
-1

s
-1

) 
 

 SD   SD 
R

2
 

NaCl 0.10 0.007  16 8 0.92 

NaCl/CaCl 0.11 0.009  149 11 0.89 

 0.51 0.023  57 29 0.98 

2. DFA  

(s
-1

)  (M
-1

s
-1

) 
 

 SD   SD 
R

2
 

NaCl 1.4 0.18  820 140 0.85 

NaCl/CaCl 1.9 0.22  1090 180 0.90 

 2.5 0.16  610 130 0.97 

1. koverall 1/[L] : a Citrate b

DFA NaCl

NaCl/CaCl2
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